

$$X_3 - \sum_{i=0, k=2}^{i=2} X_{ik} - X_{11} + \sum_{i=3, k=i+n}^{i=2} X_{ik} + X_1$$

$$\Omega(r) = \frac{T(z)}{t_{\max}(z)}$$

$$P(u) = \frac{\int_{-\infty}^{3+} G(t) dt}{\int_{-\infty}^{3+} H(t) dt}$$

$$\frac{x^2 - y^2}{\sqrt{2}} = \sqrt{\frac{(x^2 - y^2)(3x + 2x - y^2)}{a + b^2}}$$

$$\frac{F'}{F(t)} = \frac{t^2 + 2c}{t^n} \Leftrightarrow F(t) = 2t/t^2 + a$$

$$\ln(a) = \ln(k) + \ln(m)$$

$$\ln(c) = \ln(k) - \ln(F)$$

$$F(x) = \frac{5x^2}{3} + 7x^2 + k$$

$$G(x) = x^2 - \frac{3x^2}{4} + 1$$

$$H(x) = 6x^2 + \frac{x^2}{7} - 5k$$

$$U(t) = \frac{1 - X(Y)}{\partial Y}$$

$$\int \frac{A + B(x)}{[a - b - 2c]^2} = \frac{A}{[ax + B(x)]}$$

